I_ A c D | E | F G H I | J
= 68 [2.68
8_ [ ] (4) Mounting Holes 410.16] —
1 = for M5 [#10] Screws.
To]
— I J
Yo}
Q [ e
- 5 W m
e a—p Y ]
2 g s il
(1 T
_ T ik ﬁ
S © e -
, Ak Keypad C
i o E
3 i J@
= Nameplate ;_ N — o
= —
| S il
S \EBN -
U
4 1 E
S
S 20.2 [0.80] 53.8[2.12]
_ o 2.7 [0.11] 72.5[2.85]
6 [0.24] 96 [3.78] 6 [0.24]
HORIZONTAL MTG DIM
5
108 [4.27]
6
N ﬁ f—h =11 N %‘
NNNN [ [
. JUUL 800
7 o ] I C/IC:  |INPUT VOLTAGE | WEIGHT
S n GA500 (VAC) Kg (Ib)
< J OO0 ”mM‘fD 2010000 22?PLOA§EO 08(1.8)
N il T] O denotes A-Z
8 _@ — DRWN. [ J. MATTAS 7-20-21 |TITLE SIZE A ‘PAGE 10F 3 REV
YAS'(AWA —JI | CHKD. | J. PIOTROWSKI |7-21-21 GA500 DIMENSION DRAWING [5G NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 8-10-21 FRAME SIZE 2.2
SCALE 12 | APRV. |J CAIRO 81721 FINLESS HEATSINK DD.GA50.FR2.2.FNL




I— A o] E F G H I J
1
B FRONT VIEW BOTTOM VIEW
2
98 [3.86]
) L T T A .
| g NN
o, l nnnonl B0
© - \ °
~ 3
Refer to DD.GA50.CONTROLBOARD i E 2 é
drawing for Control Circuit Board details A f' ; ; 5
|| ollo Ud oo q | Ne
Base Point of | e 5
Control Circuit Board I L Q
Main Circuit Terminals 3 o
4| with M3 Screws; =2 SlEw
Slotted (-) ) N |2 e
<t o|3E
Q ~25
o g|_
1 o
o,
o 10.7 [0.42] 2xP6.35=12.7 [0.50]
5
36.3 [1.43] 2xP6.35=12.7 [0.50]
N Grounding Terminals 58 [2.28] 4xP6.35=25.4 [1.00]
with M4 Screws;
Phillips(+)/Slotted(-) combo
6
ciC: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
GA500 SYMBOL AWG (mm) SCREW N.m. (Ib.in.)
RIL1, SIL2, TIL3 14-10 (2.5 - 6) M3 06-08(5-7)
7 UIT1, VIT2, WIT3 14-10 (2.5 - 6) M3 06-08(5-7)
2010000 L+, 42 14-10 (2.5 - 6) M3 06-08(5-7)
B1, B2 14-10 (2.5 - 6) M3 06-08(5-7)
14-10 (2.5 - 6) M4 12-15(11-13)
] o0 Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 _@ — DRWN. | J. MATTAS 7-20-21 |[TITLE SIZE A ‘PAGE 20F3 REV
YAS'(AWA — CHKD. | J. PIOTROWSKI 7-21-21 GA500 DIMENSION DRAWING DWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 8-10-21 FRAME SIZE 2.2
SCALE 12 [APRV. |J.CARO 81721 FINLESS HEATSINK DD.GA50.FR2.2.FNL




I— A B c D E F G H | J
Minimum Installation Clearances Mountgg;%r:znsmns
1 :
/ 108 [4.25] g
o
2 ©
~
5 |
-~ Air Air z= hal | - - BN
- 3 ® T ™
Ve | | |
\ | \ (4) Mounting Holes
3 ‘ ‘ ‘ for M5 [#10] Screws.
| | |
— | | | 8
_ g I i I v
] i e — B — T3
& | | | -
4 | \ |
30 [1.18] 30[1.18] ‘ ‘ ‘
| i |
- \ \ \
,,,,,,, +,7,7,7,7,
5 | _
b
=)
Yo}
. 5
o, 6 [0.24] 96 [3.78] 6 [0.24]
=} —
=} ~
A 2
6 Air 2= < Air =
o
Te]
Notes:
1. Mounting Plate Properties
— - Flatness shall not exceed 0.2mm
/ - Roughness shall not exceed 25S
- Temp. shall not exceed 90C (194F)
2. Apply thermal compound between
7 heatsink and mounting plate.
3. Mounting Screw Torque
Note: -2.0-2.5 Nm (17.7 - 22.1 Ibf-in)
| For alternate mounting configurations, consult manual. 4. See manual for complete details
8 _@ — DRWN. | J. MATTAS 7-20-21 [TITLE SIZE A ‘PAGE 30F3 REV
YAS '(AWA —J [CHKD. | J. PIOTROWSKI _|7-21-21 | GA500 DIMENSION DRAWING  [GWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 8-10-21 FRAME SIZE 2.2
SCALE 13 | APRV. |J CARRO 61721 FINLESS HEATSINK DD.GA50.FR2.2.FNL




	Sheets and Views
	DD.GA50.FR2.2.FNL-PAGE 1
	DD.GA50.FR2.2.FNL-PAGE 2
	DD.GA50.FR2.2.FNL-PAGE 3


